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104.

53 GESS
Select the statement which matches with the correct question tag :
A) Everybody agreed to our proposal, did they ?
B)/L:,ver'ybody agreed to our proposal. didni't they ?
C}  Everybody agreed Lo-our proposal, do they ?
D) Everybody agreed Lo our proposal. don't they ?
Idenltify the senlence :
He is certain to be late so why Lo wait for him ?
A) Simple B} 9 Compound
C)  Complex D}  None of these.
Pick oul the senience with SVOC pattern :
Al Man hunts animals, mercilessly
B}V/We elected Malar, the leader
C}  She boils the milk everyday
D) They stand under the Lree.

Match the stalements given in Column A with their question tags in Column B

and select the correct answer from the codes given below :

Column A Column B
a) It's raining, 1. didn’t they ?
b}  They came by car, 2. can she ?
.c} They don't like me, 3. ism't it ?
d) She can't do Lhe job, 4. do they ? P

Codes :
a

b
A) 1 4 2 3
2

B} 3 i 4
C) 2 1 4 2
D) 4 3 I 2.
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105. Select Lhe correct sequence ol preposition :

............ the eleventh hour Ramu withdrew ............... the contest, leaving the
field open ............. ... his opponent .................. that day.

A) at, from, on. to B)  at on, {rom, to

C)  on, at, from, (o D al. from. to, on.

106. Select the appropriate active voice for the italifized words :

The house next door has been bough! by Anitha.

A Das bought B)  have bought

C) have been bought D) will have been bought.
107. Which one of the following has correct gerund form ?

A I am tired of waiting B) [ am tired of having waited

C) I am tired of being waited D) 1 am tired to wait.
108. Which one of the following has the correct infinitive ?

A}\/I think Nina meant to break the crystal vase.

B) [ think Nina meant to have broken the crystal vase.

C) 1 think Nina meant having broken the crystal vase.

D]} [ think Nina meant to be breaking the crysial vase.

109. Give the suitable order of articles in the blanks of the given passage. Write the
correct code given below :

In the evening ............... stranger walked towards ............ SEA. ..ooiienns roaring
sea was with big wavesand ............... old man was seen there,

Al the. a. the, a B)  the, a. the, an

C) a, the, the., an D) a, a, a, an.

110. . Find oul the odd one ( verb ) :
A) Lasl B} Final
C]/bost D}  Truthful.

111. Choose Lhe correct words to fill in the blanks :

A of ... chased few ............ :
A) group. apes, chicken B)  team, apes. chickens
C} troop, apses, chicken D) ﬁoop. apes, chickens.

1025GE [Ts_oz_'
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GESS

112. Match the following words given in Column A with their meanings in Column B

and select the correct answer from the codes given below .

a)
b)
¢}
d)
Codes :
a
A) 1
B) 3
C) 4
D) 2

Column A
Mesmerising
Hypnotise

Bedlam

Imposter

1

3

4

2

3.

Column B
spellbind
captivaling
deceives

confusion.

113. Match the following phrases given in Column A with (heir meanings in

Column B and select the correct answer from the codes given below :

a)
b)
c}
d}
Codes :
a
/3
B 4
ct 3
D) i

1025GE

Column A
advance and relreat

keep an account of

arrive in

pour out from

" 802

Column B

to write something as a record

emerge in a large number

move to and fro

reach
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114. Which one of the [ollowing sentences has a participle in il ?
Aj He had lost his passporl and applied for a new one.
B) ﬁi-u ing losl his passport, he applied lor a new one.
C} His passport had been lost, and hence he applied for a new one.
D} His passport was_lost and he had applied for a new one.
115. Select the correct option to complete the sentence |
Gandhiji is the only person who stood
A) for truth and nen-violence
13) of truth and non-violence
) after truth and non-violence
1) away truth and non-violence.
116, Identify the senlence :
In the event of his [ailure, he will give up {urther attempts.
Al None £3) Compouid
C) Complex D) Simple.
117. ldentify the sentence with the correct questlion tag :
A} They have been to London, 1--1ave they ?
B)  They have been to London. hasn't they ?
C) /Fhe_w had been 1o Lonidon, hadn't they ?

D) They had been to Londoen. haven't Lhey 7

1025GE | BO2 |
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57 ' GESS

Malch the following words given in Column A with their meanings in Column B
and select Lthe correct answer from the codes given below :

Column A Column B
a) ferocious I SOrTow
b) impediments 2. arrogaiit
) haughty 3. wild
d)  affliction 4. obs(acles.
Codes :
a b c d
A) 4 1 3 2
B) 3 2 4 1
C) 1 3 4 2
D)I/S 4 2 . )
Fill in the blank with suitable article :
He always offers alms to ..................... poor.

A) \/‘ the B) an
C) a D) no article.

Match the following articles in Column A with their suitable words in Column B
and select the correct answer {rom the codes given below :

Column A Column B ~

a) a I Second Rank
b) “ero 2. MLA
c) an 3. English Language
dj the 4. Man

Codes :
a b c d

A) 4 2 3 1

B]/ﬁl 3 2 1

C) 2 3 4 1

Dy 2 4 3 1.
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121. Match the [ollowing words given in Column A wilh their parts of speech in

Column B and seleci the correct answer from the codes given below :

Column A Column B
a)  Abroad 1. Adjective
b} Blue 2. Noun
<) Cartoon 3. Adverb
d) Dare _ 4, Verh.

Codes :

a h c d

A]\/S 1 2 4

B) 1 2 3 4
C) 2 3 4 1 .
D) 3 4 1 2.

122, Fill in the blank with suitable article :
He studies iﬁ ..................... sixth standard.
A) no article B) a
C)  an D)Ae.
123. Find the sentence in which the italicized word is used as an Adjective :
A) [ did not know his address.
B)  Address the gathering.
C)  Write your address here.
D) \/rl‘e asked for the ad;iress proof.

1025GE 802
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59 GESS

Malch the following italicized words of the sentences given in Column A with

their parts of speech in Column B and select the correct answer from the codes

given below : , .
Column A Column B
a) They have a plan 1. adjectlive
b) I live here 2. noun
¢l She walks fast 3. verb
d) I have a gift wrapper 4. adverb,
Codes :

b3

A) 1 4 3
B) 2 4 1 3

C) 2 3 1 4

ovf 5 4 1

Find out the part of speech Lhat is not used in the given sentences :
I8 She gave us a present.
I.  We present her a gift every year.
IiI.  The present situation is worse.
IV. The paper presented needs your attention.
A) Noun B) \/‘Kdverb
) Adjective D) Verb.
Select the correct eption to complete the sentence ;
Jane lelt Bangalore after her studies. She found it difficult to get a job.
Jane would have found a new job ... .
A) if she stayed in Bangalore B) /if she had stayed in Bangalore

W

C)  if she would stay in Bangalore D)  if she will stay in Bangalore.
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127,

128.

129.

130.

131.

Select the correct sentence from the following :
A) He is the good batsman in our team.
B)\/Ile is one of the talkative boys in the class.
C) Lekha is maost clever than her sister.

D}  Apples are nol sweet as mangoes.

Select the correct sentence from the Jollowing :
A) Do you know which is world's tallest building ?
Bj \A)ne of these cycles is defective

€)  This is the hardly nul to crack

D}  He is good athlete. He performs well.
Which one of tb: ollowing is a correct senlence ?
A) This is Lhe mosl long lesson in Lthis bock

B}  This is the most longest lesson in this book
C)  This is most longest lesson in this book

D} \/This is the longest lesseon in this book.
Which one of the following is a correct sentence ?

A) Ramu is more (afl than Somu.

- B) Ramu is not more tall than Somu.

¢) /Ramu is (aller than Somu.

D) Ramu is {aller Lo Somu.

Which one of the following has the correct gerund form ?

A) I remember to read about the earthquake in the papers.

B} I remember having read about the earthquake in the papers.

C) I remember having beensread about the earthquake in the papers.

D) remermber reading about the earthquake in the papers.
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132. Which one of the following is a correct sentence ?
A) Kindness is noblest of all virtue.
B3) Kindness is mosl noble ol ail virlucs.
C) \/f(incln(-:SS is the noblest of all virtues.
D) Kindness is the most nobles: of all virtucs.
133. Fill in the blank with suitable gerund :
........................ on the grass is {orbidden.
A To walk B}A//\h-’:‘:lém T
C} Having walked D) To be walked.
134. Fill in the blank with suitable infinitve :
Tamnot alraid ..., ‘the truth.
A) Lo have spoken B}  having spoken
C) speaking | D) l/Lo speak.
135. "ind out the correct Passive Form {or the italicized word / words ¢
He will do il
A) will done B}  will be doing
C) \/ﬁll be done 9)] would do.
136. Find out the Aclive veoice from the options :
A} L&t the doors be opened.
B} Lef the cars be parked here.
C) Let the children play in the garden,
D) Let the inpatients not be disturbed.
137, [dentfy the tense form
He has fist gene oul
A) Simple Present tensc B} resent Perfect tense
C}  Sunple Past tense D) Pas: Perlect ten-e
1025GE 802!
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138.

139.

140.

141.

142,

143.

Replace the ilalicized word / words with present progressive tense from the
options given below :

She expects a lot {from her brother.

A} was expecling B}  has been expecting

C) \,/i.s expecling D) would be expecting.

There ............... atearinmycoatsol .................. anew coat whenl ............
to market

A) is, will buy. go _ B)  was, will buy, went

C)  is. bought, go ‘ D)  will be, bought, went.

Replace Lhe ilalicized word / words with Past Progressive tense from the oplions

given below :

She absented herself from the school frequently.

A) had been absenting B) has been absenting
Cl is absenting . D)/ was absenting.
ldentify the sentence @

His son, the pride of his old age, is dead.

A) Complex B) Compound

C) None D}Ample.
Identify the sentence :

Thal he is unreliable is well known.

A) Simple B} Ceompound
C)\/ Cormplex D) None of these,
Identify the Compound sentence :

A) Unless you do as 1 do. you will regret it.

B) Can you {ell me the time of his arrival ?

C) \/]"‘aﬂo sal beside him and pulled out his cell phone.

D)  This is a machine which is used for sewing.

1025GE 802
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63 GESS

Identify the Simple sentence :

A) \/{he problem is loo dilficult to s;)lve.

B}  The problem is so difficult that I ce-mnot solve it.

C)  The problem is very difficult and so I cannot solve it.
D} As Lhe problem is very difficult. I cannot solve it.
Identify the Simple sentlence :

Al He wenl to the place, where his father lived.

B) v/H\e went to his father's native place.

C) He went to a place and his father lived there.

D)  He went to the native place where his father lived.

Match the following words given in Column A with their antonyms in Column B

and select the correct answer from the codes given below :

Column A Column B
a) Trivial 1. dwarf
b) Acceleration 2. significant
c) Monstrous 3. it
d) Extinguished 4, retardation.

Codes ;

A) 1 2 3 4
B) 4 ! 2 3

C) 3 4 1 2

D]\A 4 1 3.
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147.

148.

149,

64

Match the following words given in Celuma A with their meanings in Column B

and sclect the correcl answer from the codes given below ¢

Column A Columu B

a) Parched 1. slimy
b) Taut 2. smiled
c) Groaned 3. slavery
d) Freedom 4. wel.

Codes :
a b c a

A) ! 3 2 :

o/t 1z s

c 3 1 4 2

D) 2 4 1 3.

Give the suitable order of articics in the blanks of the given passage and choose
the correct codc given holow :

Kamuo had applied lor ................. post of ... cashier in ...............
bank. In ..vveeveeeenn . interview he answered some queslions well.

A) a. the, the, an B the, a, a, the

C) ihe, a. a, an D) the, a. the, an.

Malch the following and select the correct answer from the codes given below :

Column A Column B
a) prowess 1. reckless
b) shroud 2. coward
c) prudent 3. clear
ct) ohscure 4. near
3. reveal.
Codes :
b c d
A} Z 5 1 3
B) 2 4 1 3
C) 3 1
D) 1 3 2
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150. Match the following phrasal verbs given in Column A with their meanings in

Column B and selecl the correct answer from the codes given below :

Column A Column B
a) bring oul 1. realise
b) bring to 2. rest{ore
c) bring under 3. cemphasise
d)  bring up 4.  subdue
5. rear,

Codes :

a b ¢ o

A]A 2 4 5

B) 3 2 4 1
C) 3 1 4 5
D) 3 1 5 4.

151, Maich the following words given in Column A with their antonyms in Column B

and select the correct answer from the codes given below :

Column A Column B
a) Nightmarish 1. calm
b} Irate 2. announce
c) Unherald 3. aroma
d)  Stench 4. ~ pleasing
Codes :
a b c d
AV 1 2 3
B} 1 4 3 2
Cc)y 2 1 4 3
D) 1 2 3 4
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152. Match the lollowing phrases / idioms given in Column A with their meanings in

Column B and select Lthe correct answer [rom the codes Jdiven helow :

Column A Column B
a) Mess around 1. puiiish
b) Mete something out 2. waste lime
c) Mill around _ 3. beware of danger
d) Mind out 4. people get together very close.

Codes :
a b ¢ d
A) 2 4 3 I
B) ! 3 2 4
¢ 3 1 4 2
D]\A 1 4 3.
153. Malch the [ollowing phrases given in Column A with their meanings in

Column B and select the correct answer from the codes given below :

Column A Column B
a) go up 1. wail
b)  hold on 2. alittle ago
) just before 3. disclose a secret
d) let on 4, increase

Codes :
a b ¢ d

A) i 2 3 4

1025GE

8



67 GESS

154, Fill in the blank with correct Homophone :

We sal under the shade of Lthe ..................... tree.
Al hreach B] heach
¢ beech D) beich.

155. Match the following phrases / idioms given in Column A with their meanings in

Column B and select the correct answer from the codes given below :

Column A Column B

p—

a) put on surrender

D) give in 2. a greenhouse
c) in abundance 3. wear
d)  underglass 4. alotof.
Codes : )
a b c d
A} ;/,; ] 4 2
B) 1 2 3 4
C) 4 3 2 1
D) 3 2 4 i

156. Find out the incorrect sentence from the following :
A) She is a minor so she needs a guardian.
B)  They saw Lhe teacher so they became silent.
C]As it rained so the match was cancelled.
D) The pen is very beautiful but it does not wrile smoothly.

157, Find out the meaning {or the italicized word :

He sel into a thriving business, ’
[ LPCOoMming !
I1. increasing
1. successful
IV. Prosperous.
A) LI I B) 54 . v
10 T TN V4 R \Y; N D)y LI oIV
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158. Match the following phrases given in Column A with their meanings in

Column B and select the correct answer [rom the codes given below

Column A Column B
a) due to 1. crushed 5
b)  pgetonto 2. move fully
c} go in to 3. climb
d) ground up 4, because of.
Codes :
a b c d
A) 2 1 4 3
B) 1 2 3 4
C) 1/:1 3 2 1
D) 4 2 3 1.

159. Match Column A with Column B to make meaningful sentences by using
prepositions and select the correct answer from the codes given below :

Column A Column B

ju—
v

a) Ranjith got by 10 per cent

b) Prices have risen 2.  about you
c) He went 3, out of the taxd
d} We were {alking 4. on horseback to Kedarnath.
Codes : J
a b c d
A) 3 1 2 4
BJ/ 3 1 4 2
cy 4 3 1 2

D) 4 2 | 3.

160. Fill in the blank with suitable preposition glven as option :
He cuts the cake ....cooevvvnivnnenn. a knife.
A)  in . Bl for

C) over \y with.
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161. Identily the incorrect prepesitional phrase [rom the given options :

Davidis ....oovviviviiiiannn... .
A) afraid of dark ’ B) afraid of dogs
‘?/ for definitely wrong , D)  frightened of devils.

162. Identify the sentence of requisition.
Al Just find out the odd one, won't you ?
B}  Just find out the key, can'l you ?
C)  Just open the door, can you ?
V Just open the door, will you ?
163. Pick out the sentence with SVIODO pattern :
A)  Painters painl pictures. B]  Teatapples everyday.
(iy He gave me a book. . D)  Raju speaks English fluently.
164. Find out the Passive Voice from the option : '
A) Someone is chasing him.
B) Someone is innocent here,
C{/S'Someone is allowed here by mistake.
D) Someorne here is keen on money by nature.
165., Which one of the following is a correct sentence ?
A) Your pencil is more sharp than mine
B) \/'\.’our pencil is sharper than mine
C) Your pencil is the sharper than mine
D} Your pencil is sharp than mine.
166. Which of the following sentences has correct use of article ?
A) ]/I‘he rose is the sweetest of all Aowers.
B) Rose is the sweelesl of all flowers.
C) A rose is the sweelest of all flowers. .

D) An rose is the sweetest of all flowers.
[ ]
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167. Fill in the blank with suitable phrase -

Prem hates ................... in the morning. Luckily he works in the evening.
A) gelting on B) ¢/ getting up
C) getting in o none of these. s
168. Match Column A with Column B and select the correct answer from the codes
given below :
Column A Column B
[ Phrasal verbs ) ( Meanings )

a) break down 1. disperse

b} Dbreakin 2. collapse

c) break off 3. detach

d) break up 4. enter by force

5. disintegration.

Codes :

a b c d
A) 2 4 1 5
B) 2 4 1 3
c) 2 4 5 1

b 4 3 1

169. Match Column A with Column B and select the correct answer from the codes
given below :

Column A Column B
[ Phrasal verbs ) ( Meanings )
a) give away 1. resign
b)  give over 2. transfer
c} give up 3. pronounce
d) give off 4, abandon
5. emit
Codes :
a b c d
A) 2 4 5 1
Blw 12 4 1 5
) 2 4 1 3
« D} 2 4 5 3.
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170. Match Column A with Column B and select the correct answer from the codes

given below :

aj
b)
c)
d)
Codes :
a
A) )
B)\/ 3
C) 3
D} 1

Column A
improvise
impound
improbable
imprecise

b c d
4 3 2
4 1 2
2 4 5
2 3 4,

171. Fill in the blanks with suitable words :

A)  gangs, thiefes

C)  gang, thiefs

172. Fill in the blanks suitably ;

A) could catch, staris

C) would catch, starts

1025GE

802

Column B

1. dubious, far-fetched

2. ambiguous, approximate
3.  invent and perform
4. seize legally

5. not original, copying.

attached the village.

B)\/éang. thieves

D) gangs. thief.

..................... early.

B) A] catch, starts

D) will catch, started.
»
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173. Find out the meaning for the italicized word :
Hemanth rejected his suggestion indignanily.
L irritatedly
II. annoyingly
Ii.
v.

infuriatedly
persuadingly

V.  furiously.

B)‘/l. 1I. lland V

Al [ I, WandV
C} I, I, IV andVv D) I, I, IVand V.
174. Find out the meaning for the ilalicized word :
She was fascinated by her obscure statements.
1. convinced
iL, attracted
L. charmed
IV. enthralled
V.  allured. .
A) I II, Vand V B I U IVandV
C) I I, Hiand IV D) I, HI, IV and V.
175. Match the following words given in Columnu A with their meanings in Column B
and select the correct answer from the codes given below -
Column A Column B
a} canopy 1. scolding
b}  concerned 2, strange
¢ queer 3. be anxious
d} chide 4. shelter,
Codes :
a b c d
Al \/ 4 3 2 i
B} 3 2 4 1
c) 3 1 2 4
Digq 4 1 2 3.
1025GE i
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176. Match the following words given in Column A with their meanings in Column B

and select the correct answer from the codes given below :

Column A Column B
a) sloth ' 1. annoyed
b) Intricate 2. laziness
c) irritated 3. fear T
d} dread 4. complicated.

B 4 D 1 3
) \A 4 1 3
D) 2 3 ] 4.

177. Match the following words given in Column A with their meanings in Column B

and select the correct answer from the codes given below :

Column A Column B
a) instinct 1. deep ] o
b) profound 2. ability
c) lanky 3. intuition
d) aplitude 4, tall and thin.

Codes :

a b c d

A1 3 4 2
5e/3 14 2
c 4 3 12 e,
Db 2 1 3 4
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178. Find out the odd one :

1. counilryside

I inside

[1l. preside

V. hillside.
A}y None of these B I
I D} IV

179. Match Column A with Column B to form a new word and select the correct
answer trom the codes given below :

Column A Column B
a) Slave 1. Ty
bl Terrnify 2. ism .
c} Youth 3. ic
d) Power 4, less
5. ful
Codes :
a b ¢ d
A) v/ 1 3 5 4
B) 3 1 5 4
C) 1 3 4 5
D) 3 1 4 2.

180. Find out the odd one :
L. Criticism
Il Racism
II.  Atheism
V. Egoism.
A}/ I B 1l
QI D} IV
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Find out the odd one ;

1. Organism

1. Tourism

IH. llypoism

IV. llypnotism.
A {1 Bl v I
Q) v Dy L

Which of the following sentences is correcl ?

A) You can study well. can you ?

B) Students like movics, do they ? s
C) We can't live without air, can’t we ?

D)\/'He didn't go, did he ?

Match the [ollowing words given in Column A with their antonyms in Column B

and select Lthe correct answer from the codes given below :

Column A Column B
a) Panicked 1. Huinility
b) Drought 2. Calmed
c} Commence 3. Floods
d} Pride 4. Conclude.
Codes : !

C) 1 3 4 2

D) v{' 3 4 1.
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184. Match the following senlences given in Column A with thelr patterns in
Column B and select the correct answer from the codes given below :

Column A Column B

a)  Now. it is raining 1.  ASVO
b}  This morning I met him 2, svVC
c) Radha sings a song 3. ASV
d) Sita is a teacher 4. SVO.

Codes :
a b c d

A) 1 2 4

B) 3 4 2 1

CJ./' 3 1 4 2

D) 4 3 2 1.

185. Maich the following senlences given in Column A with their patterns in
Ceolumn B and select the correct answer from the codes given below :

Column A Column B
a)  They were happy 1. SVA
b)  She sang sweetly 2. SVICDO
c) I gave him a book 3. SVOC
d) He painted the car green 4. SVC,
Codes :
a b C d
A) 1 3 2 4
BY 4 1 2 3
C) 4 2 4 3
D) 4 3 2 1.
186. ldentify the sentence pattern :
To err is human.
Ay SV B) AVC
c) SvVO D) SVOC. :
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187. Malch the following homoephones given in Celumn A with (heir related meanings

in Column B and select the correct answer from the codes given below :

Column A ' Column B
( Homephones ) ( Meanings ).
a) Statutory 1. Slatues collectively '
b) Stationary 2. Authorized by law
c) Stationery 3. Not moving
d)  Statuary 4. Writing materials.
Codes :

a c d

B) D

b
A1 2 3 4
3 4

c) 3 4

1 2
D)y 4 1 2 3.

188. Match the following homophones given in Column A with their relaled meanings

in Column B and select the correcl answer {rom the codes given below :

Column A Column B
{ Homophones ) ( Meanings )

a) career 1. an attendart at court

b)  courier 2. person or animal transmitting discase

) carrier 3. job

d) courtier 4. a person who delivers messages.
Codes :

a b c d
A) 2 3 ] 4
B) 3 i 4 2
B a 2 1 '
D) 1 2 4 3.
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189. Fill in the blank with the correct 'Homophone' :

The ..o thread was thrown away.
A) naughty B)  notly
C]‘/l.molty D) notey.

190. Fill in the blank with the correct ‘[Homophone' :

The teacher gave .................. to the students.
Al Council B) Councillor
C)/.Counsel D)  Councel,

191. Find out the meaning for the italicized words :

His brother's worthy suggestions changed Sachin Lo a sfeadfas! cricketer.

i) determined i) firm

iii)  famous iv)  commitied.
A) i, &, i B),A i, v
C) i il v ‘ D} nene of these.

192. Which of the foliowing stalements take the following quesiion tag ?
.............. doesn't she ?
Al /ﬁeeta goes to school everyday.
B) Reetla should go Lo school everyday,
C) Reeta can go to school everyday,
D) Reeta does not go to school everyday.

193. Fill in the blank with suitable preposition given below as options :

There is a beautiful bridge ..................... the Kaveri river.
A) ﬁcross B} in -
C) through D} belween.

1025GE 802 !



194.

195.

196.

79 GESS

[dentify the degree :

Delhi Dare Devils and Kolkata Knighl Riders are equally challenging teams.
A) Comparative -I. - B)  Superlative

C) Positive D)/None of these.

Change into Superlative degree :

Aerospace engineering is more fascinating subject to the students than other

subjects.

A) Aerospace cengineering is the most fascinating subject o the students

B}  Aerospace engineering is one of the fascinaiing subjects to the students
C)  Acrospace engineering is the only {ascinating subject to the students

D)  Aerospace engineering is not the only fascinating subject {o the students.
Choose the appropriale Passive Voice for the following sentence :

They were carrying the injured player off the [lield.

A)  They carried the injured player off the field

B) /Fhe injured playcr was being carried off the field by them.

C)  The injured player carried them off the field.

D)  The field was being carried by them for the players.

. Identify the Superlative degree :

A) Who is braver. Napoleon or Hitler ?
B) She is the wealthiesl lady in the society,
C) Her dress is old.

)| The nearer | came. the farther he went.
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198,

199.

200.

ldentify the degree, and choose the correct answer :

Some poels are al least as great as Tennyson.

A) Comparalive degree Bl Positive degree
C) Superlative degree " D) None of these.
Change the following into Comparative degree :

My pony is nol as trained as yours.

A) / Your pony is more trained than mine.

B)  Yeur pony is not more trained than mine.

C) Your pony is relatively more trained.

D) Your pony is more trained.

When | saw a black and white print of Jesus Christ in his hut [ asked Gandhiji.

"How is this ? You are not a Christian”.

"I am a Christian and a Hindu and a Muslim and a Jew.” he replied.
The answer of Gandhtji reflects ............... .

A) his arrogance B) his faith on secularisn;

C) his disrespect for religion D)  his disrespect for others.
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Read the following instructions carefully before you begin to answer the questions,

IMPORTANT INSTRUCTIONS

1. This Booklet has a cover { this page ] which should not be opened Il the invigilalor gives signal 1o
open 11 at the commencement of the examuination. As soon as the signal is recetved you should tear
the right side of the booklel cover carefully to open the booklet. Then pruceed lo answer the

questions.
2. This Question Booklet contains 200 guestions,
3. Answer all queslions. All questions carry equal marks.

You must wrile your Register Number in the space provided on the top right side of this page. De
not write anything else on the Question Booklet.

5. An Answer Sheet will be supplied to you separately by the Invigilator to mark the answers. You
must write your Name, Register No., Question Booklet Sl. No. and other particulars on side 1 of the
Answer Sheet provided, faillng which your Answer Sheet will not be evaluated.

6. You will also encode your Register Number, Subject Code. Question Booklet 8L No. etc.. with Blue
or Black ink Ball point pen in the space provided on the side 2 of the Answer Sheet. I you do not
encode properly or fall to encode the above information. your Answer Sheel will not be evaluated

7. Each question comprises four responses [A), {B), (C) and (D). You are to select ONLY ONE correct
response and mark in your Answer Sheet. In case you feel thal there are more than one correcl
responsc. mark the response which you constder the besi. In any case. choose ONLY ONE respornse
for cach guestion, Your total marks will depend on the number of correct responses marked by you
in the Answer Sheet.

8. In the Answer Sheet there are four brackels [ A} 8 |1 C ) and { D | against each question. 1o
answer the questions you are toe mark with Ball point pen ONLY ONE bracket of vour choice for
each question. Select one response {or each question in the Question Booklet and mark in the

Answer Sheet. If you mark more than one answer for one question. the answer will be (reated as
wrong. ¢.g. I for any item, (B} is the carrect answer. you have to mark as follows :

‘A I ICIID]

9. You should not remove or tear off any sheet from this Question Booklet. You are not allowed 1o take
this Question Booklet and the Answer Sheet cut of the Examination Hali during rhe examination.
Alter the examination 15 concluded. vou must hand over your Answer Shect to the lnvigiiator. You
are allowed to take the Question Booklet with you only after the Examinatlon is over,

10.  The sheet before the last page of the Question Booklet can be used for Rough Work.

11, Failure to comply with any of the above instructions will render you liable to such action or penalty
as the Comumission may decide af their discretion.

12, For Question Nos. | to 100 n all matters and in cases of doubt. the English Version is fintal.

13, Do not tick-mark or mark the answers in the Question Booklet,
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1. sre aflosiug aupgs
1. Dr. A P. J. SiugIs Seumid
I1. Dr. shefsures g
. K. R mryrwess e

. P. @GU:EJ&»LUW&G&T

Gloubyel -
A) IV, IL 1w | B) 1L L Il whos [V
C) L IL IV whay I D) 1L IV, I b I,

Arrange in chronological order :
1. Dr. A, P. J. Abdul Kalam
i1 Dr. Shankar Dayal Sharma
II1. K. R. Narayanan

v. P. Venkataraman.

Of these
\A{ V. I, Ol and [ B) 1, 1L T and TV
C [ 1. IV and II ) Il, IV, I and {il.
2.  dpsecm_appet ‘Orfle euearddl wppe Busel awim gepdlar &peurTg
HlimeusotD erg ?
A) g Garr B) s
C)  us& D) mgél
Among the following which is not related to Industrial Development and
Finance ?
A)  TIDCO SiPCOT

B)
C)  TIC \,m/ ITC.

3. GQuraibaen dpaasda S eugng et Glaoil e SpHSTML auDRIET g ?
A)  Qesrenen QuUUGrrebiwd sbGue '
B) whswhT &&dlafiy & QuiCrr Gallssde
C) @haevsnd e sbbusiasr
D) Meewsiav Qu Crmedwun SIBIGILL .
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Which of the following oil companies is not a public sector company ?
A) Chennai Petroleum Company
B}  Mangalore Refineries & Petrochemicals
C) Hindustan Oil Companies Ltd.

.,B( Reliance Petroleum Ltd.

4. dpesaimasdia  awma  Ofgoflan  sweuessgdlpis  Crrgure
m&ujrremju@\a‘;lrpgj 7 '

I Lirguwitle Badlu Mlarmem Hg)

. Ggélw urgieriy pidl.

Gleubpyefr :
A) Il (b B) IT ol (i
C)  lwbmybd II D} 1 @)vemes 1ED @levsme.

Which of the following fund(s) is/are operated directly from the Prime Minster's
Office ?

[. The Prime Minister's National Relief Fund ( PMNRF ).
II.  National Defence Fund ( NDF ).

Of these

I only B) II only
9/ Both | & II . D) Neither I nor I
5 sarflgsausel Lwudaupd Glodl atGurglamid. Qo Qrss Haly mussaio
sTeUUGEDG. Spgs@mau Spdubp Grésnd QubD el
A)  wallges . B} uDseusel
C)  wekyw D)  &pUumes y&&l.

Haemoglobm is the pigment useful to transport gases. They are present in Red

Blood cells. [dentify the animal which has blood without plgments

A) Human B) Birds

C) Earthworm \9/ Cockroach.
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6. ulgwe Ie ulgue I o e Qurmsdl, FEp Qar@ssiu’ Qerer @hlifsamens

Qarean@ efuna alleoowsd Cuihbiad

a)
b}
c)
d)
SR ;
[44
A) 3
B) 2
C) 4
) 1

Ulgwe I
( psst )
wanmHdl
@wathur
Bargmeuf
&b eipesor
b c d
4 I 2
3 1 4
1 3 2
2 4 3.

ulgwen II
{ Cgpredrmud Gb )
BTélé @esys e
0BT TR bemes
SDIT ST T LT

HITTL DT LDENEY.

Match List I with List II correctly and select your answer using the codes given

below :
a)
b)
c)
d)
Codes :
a
o 3
B) 2
c) 4
D) 1
GK640T

List X
[ Rivers )
Mahanadi
Periyar
Godavari

Krishna

W
p—
1y

List 11
( Origin )
Nasik Hills
Mahabaleswar hills
Amarkantak

Cardamon hills.
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7. ulgud I o uique I 2d GQurpsd, d8p Qar@ébeuul e @hllinsamens

Qaraah eflure ollav_oud Caibos( :

a)
bj)
c)
d)
SHHSer
a
o
B) 4
C) 2
D] |

ulgwe I

Srgurrm

2 0 96s grés alwrdl

s gefl
Gur@e
b c
4 2
2 1
1 3
3 4

2.

uliguwee IX .
Lighene
M &

uméieflun

LGym G r@ameun.

Match List I with List II correctly and select your answer using the codes given

below :
a)
b)
c}
d)
Codes :
a
A) 3
B} 4
) 2
D) 1
GK640T

List 1

Cholera

African sleeping sickness

Phlegm
Dandruff
b c
4 2
2 1
1 3
3 4

List 11
Fungl
Virus
Bacteria

Protozoa.
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8. spsn g ofle sThDTEe & o LAt fac ?

Ay eeaflwrewf, Garubgart, €

B)  griaden. sdaalumg ofl, 4mEinaEael

C) CimilBeuedt, &mighHi ., bladranan

D) Qarwdyggrt, rGrr®, siwuf,

In Tamil Nadu the most windforms are with districts of
Al Kanyakumari. Coitabatore. Tiruppur
..,BJ/' Tuticorin, Kanvakumari, Tirunelveli

C)  Neyveli, Kanchipuram. Chennai

) Coimbatore. Erode. Dharmapuri.

9. epglymuen 1 2reht @uniiitemu e @Emulymer  SG @D asLU DeTeres .

soudiler &g Seupreng et s GHIOTGE 1
A) ISRO B) BARC

C) NASA D) ONGC.

The name of the organisations which are associated in the Chandrayan 1

mission are given below. Identify the wrong one -
A) ISRO 13} BARC
C)  NASA 27 onee.
10.  Spasamn suréfunssoes sl
Fadi (A) . eallaBamer gesora oy CLmmobiuips Hlaseb.
srged (R} : safe@amefian guuiisd gaomnall samay
FCip @OILLL_ Pafar @dligen o wmen cileor anwd Ceidlimnd
Al {A) opmd (R) @yeohn efl, Cueus (R) aaig (A) elhig o q-.._*;-‘." eflendain
B)  (A) whnd (R} Gyess B oifl, Soeand (R) @i 1A) ellibg o uren eflenéameves
Cy (A afl g emd (R} gauy

D) (A} seumy. Jyenmev (R} &),

GKB40T BO1 [ Turn over
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11,

12.

Cansider the following statements :

Assertion (A) :  Planet Saturn when put in water it would float.

Reason (R) : The planet Saturn has a specific gravity less than one.
Now select your answer according to the coding scheme given below :
\K( Both (A) and (R) are true and (R} is the correct explanation of (A)

B) Both {A) and (R} are true, but (R} is not the correct explanation of (A}
C) {A) is true, but (R) is false

D} (A} is Talse. but (R} is true,

aflge LUSTURSFILED 40 el Epe alaeehe e Bletr Georm i
Qe Lu@dmal 7

Al 02 gupdhor - B) 05 gypdwr

C) 1 gyt D) 575 gybflur,

How much current is consumed for a tubelight which has 40W for domestic
use ?

\)r(j 02A ' B O05GA

Cj 1A D) 575A.
Eburadss sydum LalsHeuesy Trébleal gagend & kgeTaTg 2
L. ()Lt & et
1. f epflé&CGamim
L w@apdlgdf
V. S@euabsLid.
@leudmysi :
A) I w_{Hib ’ B) Ll b
C)  INolEd D) ITw(pib.
Thumba equatorial recket launching station was established at which place in
India 7
L. Bangalore
il.  Sriharikota
I,  Mahendragiri
IV. Thiruvananthapuram.
of rhése
A)  Ilonly . B) lonly
el IV only D) IT only

GK640T
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13.  #pssramd auflesid ag Crigpe el sihe adumg @RUIGs 7

A)  axmworen el _ B)  elpuser sufl

C)  Oauswd) sull D) Qergag el

Among the following taxes which is not considered as a direct tax ?

A)  Income tax BT Sales tax

C) Gift tax D)  Wealth tax.
4. utigud [ uigue I 2 d Qurepsd, &8 Gerpésiu@eiar GhlGaamens

Qarer( sflurar el _ews CarhOEH

ulgwen I ulgués 11
a) BRE SPHHILUL R LD g of 1. pretsrd Hleed Osmie

(HL_61G §:658 & a6

QUL _(R6iT 6T eyt 5 &t

b) Geusiemen &(PpSHaLUL L Letlurertasi 2. @FesT_mb

HlenavdGlsmfle
L1, Snduley

AR (Hefl emTeurm sefi

¢) ey supdslul @ uelum e &6 3. mhsnd Hlaeg g

L e oul 0
F QI (Hief emeum & sit
d) B SESHIUC L LGHIWITENT & 4. oquuoL Ggmid
BLauigSen e ulle
F AL (helf sreurt e,
GOlpser -
a b c d
A) 4 2 1 3
B) 1 3 2 4

¢y 3 1 4 2

D) 3 1 2 4,

GKB40T | Turn over
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Match List I with List II correctly and select your answer using the cedes given
below :

List [ List 11

a)  Gold collar workers 1. Involved in quaternary activities

b White collar workers 2. involved in secondary activities
c) Red collar workers 3. Invoived in quinary activities
d} Blue collar workers 4. Involved in primary activities.
Codes :

a b c d
A) 4 2 1 3
B) 1 3 2 4
Wl 3 1 4 2
Dy 3 1 2 4,

15.  @ndlurele waaapsans Coustranans wyrmiddl ewudbengs sr mdlueurt

A} S Le Jiyy B) sieea iy

C)  amedli Sy D) foue Q.
In India. the first Agriculture Research Cent:;g was started by
A)  Lord Lytton N " Lord Curzon
C) Lord Canning D) Lord Ripon.

16.  Spsseaie aurbdlunsamend seuafl :

anibmy (A) . Gndu Caélu Quissdle arsd Spyaler 1905 b &g
ksl Jiflellensn dallpanssaée 2 _ang Tyannre Sewhss.

argeoid (R) : ouksrerdfldlephs @habsomanyd apdvelbameanyd Jere@sd),
amstagdla  Cadu  goneowew  Figomeuuts, sisalla
2 GOuTeOOWITesl BB &HSDITGD .

&8y MUl Gstrer GPULge aflura afsoewg CarbGs® :

A} (A) wpib (R) Gyeo B &), Coeud (R) erebiug (A) eiHe eflure allenéainéoes
B) (A ohHpd (R @ge&m@fm g, Quaud (R} sretiug (A) ealpig sflutes alardsb

Cy (A} oM, gsmme (R) geuny

D) (A) ey, e (R) &ifl.

GK640T
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Consider the following statements :

Assertion (Al ;. The partition of Bengal in 1905 provided a spark for the rise of
extremism in the Indian National movement.

Reason (R} : Curzon's real motives were to divide the Hindus and Muslims in
Bengal and to break the growth of Bengali nationatism.

Now select your answer according to the coding scheme given below -
&1~ Botn (A} and (R) are true, but (R} is not the correct explanation of (A}
B) Both (A} and (R) are true and (R) is the correct explanation of (A}
C) (A) is true, but (R) is false
D) (A} is false. but (R} is true.
17.  arhs euflliles eufl flepeand euflésamoub e BCs allydlng 2

A)  aumwres eufl B}  ellpuenes surfl

) wdHiy&ses Heur) . D) QsaeudsLemd { sudl ).
In which tax the incidence and impact is on one and the same persen ?
\ﬁ/ Income tax B) Sales tax

C} Value added tax D)  Service tax.

18.  &re eufleweliung erqgas :
I arw Geusn
1 fe @%ug,m
ML weger Coumid
V. asmeuan Geusid.

A) - L TIL Il opoid TV B) II1, TV, [ wpryd II
C) IV, L I wim Ti D) IL 0L 1 ohos V.

Arrange the following in chronological order :
I Sama Veda
11, Rig Veda
ilI.  Yajur Veda
IV.  Atharva Veda.

Of these
A) LI I &IV B) LIV, [&II
C) IV, LI &I Wwrt IL L T & 1V, Y,

GK640T . [ Turn over
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19. wlgqueé 1 o ulgqué I 2 L& Quipsdl, Gy GerEésiulGeren @bhsamens

Qerem () sfluren alla_owug Caipsd :

a}
o}
c)
d)
GOEPS e :
a
A 2
B 1
C) 3
Dy 3

Lt g wee I

(P& EHSTEH (R Hi LD

@\ eBTLID heTeson ([ HiLD

APSBTDITD b atoT(h LD

BTeTenh sbgman® S

4 1 3
2 3 4
4 2 1
4 1 2

0

w

o~

g uies X
gesaianne) Gumseé
Geuemressisnw  wpmie  Qemflé
euenré &l
Qeuenmestiemw auenité 4

ewied QFible cuentédl.

Match List I with List II correctly and select your answer using the codes given

below :

a)

b}

c)

dJ

Codes :

A)

B)
C)

3

GK640T

List I
First Five-Year Plan

Second Five-Year Plan

“Third Five-Year Plan

Fourth Five-Year FPlan

b ¢ d
4 ] 3
2 3 4
4 2 1
4 1 2

List II
Self-sufficiency

Agriculture and Industrial

development
Agriculture development

Heavy industries development,
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20. ulguéd I & uigue I o cd Quipsd, aGp Ler@esiun_Geier SR enen s
Qanan( sfure afleoLswd Corba®

L tgweo I Couigwés 1T
a) erg. Ggy. urum 1. ofelusy Qamfie  ggTies]
&P&D
b]  erev. ereu. UL BIGE 2. oanEsd geen
¢) . eren. Campamh 3. oo Gleusll gy gmiéd Hipiaismid

d)  edlegh smgmumd 4,  ungsTiy eflefue Hiprueio.
ebliRsear :

a b c d
A) 2 1 4 3
B) 2 4 1 3

C) I 2 .3 4
D} 3 2 4 |

Match List 1 with List II correctly and select your answer using the codes given

below :
List I List fI
a) H.J. Bhabha 1. Scientific and industrial
research
b} . S Bhatnagar 2.  Atomic energy
c) D. 5. Kothari 3. Indian Space Research
Organisation
d)  Vikram Sarabhai 4.  Defence Science Organisation.
Codes :
a b c d
v’;\/ 2 1 4 3
B) 2 4 1 3
C) 1 2 3 4

Dy 3 2 4 1.

GK640T ( Turn over
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21. 'i':t',j'_-',-'?’-e.r:-.:'-ﬁ:: encus:emen SITeu(Lpemmulig sultiend LUBES s hgis

I EAl Tt

I EV Lzl T &l

V. uemipw (T Uil
@eupmiet :
Ay IL IHL o wibmun IV "B) VLI Dohoup 11T
C) I T 11 whnen IV : D) I, 1L IV hps 11,

Arrange the following periods in a chronological order :
I. Neolithic period
(. Mesalithic period
III.  Chalcolithic period
[V. Palacolithic period.

Of these
Ay  ILILI&TV ‘{‘3}/ 1V, 011 & LI
cy LI I & IV Dy UL LIV&IL
22. dpssanl sursdlunsenas v
L. pidl Cla,  Lnun aeueet ey
D ole e en Liu (Hib %@u&&;ﬂ (hl_ 6Lt &6 & & &1
Gla cussding.
I1.

gness  fHloeud  ubuTLeE  HEHHleyeier
[ "-?'. man| oy |gjé;|g)<ﬂ

o, WP Sl Y pR - .
_.h__‘_::.'::l_:!l:_-"! a7 &)/ 6T e e SFIrl ¢

A) I ol (DD Bl Huw @b
C}y lwbHped I D) 1D @évene IO Gdvans,

Consider the following stalements .

L. The Atomic Energy Commission was set up under the Chairmanship

of Homi J. Bhaba to formulate a policy for all atomic energy activities
in the country.

II. In 1950 India’s first nuclear reactor in Trombay near Bombay began
to function. '

. Which of the statements is/are correct ?

Al I only 1) IT only
\Q{ Both [ & 11 D) Neither I nor 11.

GK640T (801 ]
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23. ulguwé 1o ulgud I 2 e Quigsd, £Cp Gar@asiul Rerer @llufseaend
Qenen® sflure aleoLomws Caiblsd :

uligwes X ulgue II
a) sl dl 1. Guflurt &, Geu. gmoemdl
b Gaaustdl apeop 2. LA eTEV. SEHDITOBLITEN
¢)  oassD el 3. LréLr wpsgelsd Qrlyg
d)  elygeidlpes ene 4. Slusyru Qe gurt.
GOllpser :
a b c d
A) 4 3 ] 2
B) 1 2 3 4
C) 2 3 4 1

Dl 4 2 1 3.

Match List I with List II correctly and select your answer using the codes given

below :
List I List 11
a)l Justice Party 1. E. V. Ramasamy Periyar
b) Devadasi system ) 2. Dr. S. Dharmambal
c) Vaikam Hero 3. Dr. Muthulqkshmi Reddy
d) Veera Tamilannal 4. Thiyagaraja Chetty.
Codes :

B) ! 2 3 4
c) 2 3 4 1

D) 4 2 1 3.

GK&40T " [ Turn over
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24 afgpéwacoiﬂl_cuﬁ)geﬁ &g

Al

B)

C)

D)

16

gilural Qurmphaseildame 2

QurerenGes  — BT
Gapressmi — Qb G
Gueigeurr — . Guebl
pdlur — @sumadlwrt

Which one of the following is incorrectly matched 7

A)

B)

Bhonsle — Nagpur

Holkar — Indore
O{’ Peshwa — Delhi

Scindia — Gwalior.

D)

25.  Sp&HHILabneT 618

A)
B)
C)

D)

GG &1 & —
urereur® Nemré —
apsvedid eid &l &) —
AL —

afural Qurphsalldeme 7

C. R. gmen
srUTely &hlyGumen
(HEUITL1 & 60l(LPEVGUT T 60T .

Quilurr r.Geu .

Which one of the following is incerrectly matched ?

A)
BI

C)

B

Swaraj Party —
Forward Bloc —
Muslim League —

Justice Party —

C. R. Das
Subhash Chandra Bose

Nawab Salimullah Khan

E. V. R. Periyar,

26. Fpsessi_supnst ag sfurel Qurehading

A)
B)

C)

D}

GK640T

QL 6vedl grume
25lBeu LNgd hisd
O LEATREZE

@k veilurent sueD

— S. N. urreirg))
— geuTi &t sGargyits el
— s iUl GlpenGrymehl

— Ww. C. urremr'ré].
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Which one of the following is correctly matched ?

A)

\B’]ﬂ Abhinava Bharat

C)
D)

Delhi Durbar

Indian Association

Servanl of India Society

— S. N. Bannerjee

— Savarkar Brothers

_ Dadabhai Naoroji

— W. C. Bannerjee.

27.  dpssemLapne ag sllure QurEhaeldame 2

A)
B)
C)

D)

LB @Tamies eldlipaonssi
#ff gormelt &lTLmé

sflevabiun Quedsgs Ny

4 0 ueoLUllMey Hend &Sl rHL Ly —

Cougy™ BeGD
el g serugl
bl sTemes @B

&Qeumestéo- GUMTLUe.

Which one of the following is incorrectly matched ?

A)
B)
C)

New army regulations
Sir John Cradock

Lord William Bentinck

.D]/’ 4th Regiment rose in revolt against —

Vellore mutiny ,
Commander-in-Chief

Governor of Madras

Colonel Forbes.

28, uigués I o ulgwuse I 2L Qurepsd. sCGp Ger@ssuu @sien @hl@eamens

Gareas @ &flurer alleomowd Caimald -

bl gfler
¢ ubdllgGae
d)  Genenr
elipeei :
a b
A) 3 2
B) 4 3
C) 3 4
D) 2 1
GK640T

uLliguwes T

a) SIEVEMOMD

4

[801]

ucigwes 11
©lun et e
LOIT 8657
OB
Qun@.
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Match List I with List II correctly and select your answer using the codes given

below :
a)
b)
c)
d)
Codes :
a
A) 3
By 4
€ 3
D) 2

List 1
Assam

Orissa

Andhra Pradesh

Kerala
b c d
A L 4
3 | 2
4 2 1
1 4 3.

List II
A
1. Ponam
2. Mashan
3. Jhum
4, Podu.

29, ulgue I o uigue I 2 le Qurpsd, d6p OQsr@ssiul Geier @iihaamans

Greaw @ eflurer el sows Ceibbls

al
b}
)
d)
Golipser :
a
A) 2
B) 4
N S
) 1

GK640T

( saoflaf] garerqpeopser )

Higwee 1
HDEUTEDSW Hea(pann
(PHOTEUG)

(@1)17 G5 LI L5}

pESTDIT QUG

3 4 1
2 1 3
1 4 2

vl iguen I1
1. FUITGUEY &6l
2. poudacobg N shen
3. SHSTD ssmeu D

4. gorendleu i,
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Match List I with List II correctly and select your answer using the codes given
below : '

[ Generation of Computers }

List 1 List 11
a) Present day 1. Valves
b)  First 2.  Integrated Circuits
c) Second 3. Fifth generation
) Third 4, Transistors.
Codes :
a b c d
A) 2 3 1
B) 4 2 1 3
¢y 3 1 4 2
D) ‘1 4 3 2.

SPEGEETIL. SaDOISET LG

Spiu@dlau Qeuligw St Safb suermd (penmée ‘CymiL rer ey Guut B)g)
ariudifley Qe wiuBEIng

L SHIby

I Qmpe

L uEss

IV, gcosre.
Gleunmust :
Al 1 (Hd B) ITw (o
C) 111 w1 (o D) IVl {b.

Which is the correct statement ?

‘Ratooning’ is the process followed in the cultivation of

L. Sugarcane
II. Paddy
fll. Cotton
Iv. Jute.
Of these
VA( 1 only B) Ilonly
C) Il only D) IV only.

GK640T [ Turn over



SGSY 20

31, wlguwd 1 ( ureesuanisst ) o ulgud I { prRee ) oL Curmss). &6y
QaT@EEsL Retean @OUGseansd Qerewn® sflura alaimwus CarhGisd

uligues I Ul igwee I
a) @i 1. e osifser
bl  oL&mor 2, oo
c) enGad 3. &lel
d) Gard 4. @hdlur.

@gﬁ)&f@&i 8y

A) 1 3 4 2
B] 2 1 3 4
C) 4 3 1 2
DJ 3 2 I 4.

Match the deserts in List I with their respective countries in List II correctly

and select your answer using the codes given below :

List I List II
a  Thar 1.  Africa
b] Atacarna 2. China
cl Sahel 3. Chile
d)  Gobi 4. India.

Codes :

B 2 ] 3 4
Iy/ 4 3 ] o
D} 3 ) I 4

GK840T 801
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32. SP&HSHEoiL sabmbhenen s
L Gamen uramzites fle Ceusmrs &HmD Camer e
. Qadieurt) gfluaear seepen abfiary 687 prse Caameauiu@dng
. seflsCamar gilwalLblmia 5 o1 b GLbdid wbaerars.
@leumye ergy / eremeu &l
A)  Tul@o B)  I'whmb I
‘c_) I Wby 11T D L 11w 11,
Consider the following statements :
L Mercury has the fastest orbital motion
1L Mars requires 687 days to complete one revolution
Il. Saturn is the {ifth planet from the sun.
Which of the statement(s) is/are correct ?
Al only 2 land I
C) 11 and 111 D) 1. IT and IIL.

33. slflpprige 2eien weelugdlsst GlaudGon usdsele vaGam CuwFsenTe
S@pselufdlamea. uwgued I ( ooelugdest 2 e ugdedt ) ;@
uigue Il ( oeubdlas GQuuisar } 2cedr Quresdl, &sGp Qar@ésiulHerenr
ORI Qunan® sfura el owus Csrta®

Ul gwée I . uligqué KT

a)  Geugymrd 1.  Qsréanae
b)  mrwé&ESG 2. SHEEUNTUE 10D
c) aﬂ@qua{ 3. Qsgd vevew
d)  Fmeesoremminene) 4.  gadfl vemen.

GlI@s o :
a b ¢ d

A) 2 3 4 1

B) 3 2 1 4

C) 4 1 2 3

D) 1 2 3 4

GK&40T | Turn over
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34.

In Tamil Nadu hill rocks are called by different names in different areas.

Match hill rocks areas in List I with their different names in List II correctly
and select your answer using the codes given below :

List I List 11
a) Vellore 1. Kolli hills
b) Namakkal 2. Kalvarayvan
c) Villupuram 3. Gingee hills
d]  Tiruvannamaiai 4. Elagiri hills,
Codes :
a b d
A) 2 3 4 1
B 3 2 1 4
NZ1 t 2 3
D) 1 2 3 4.

a‘f@ém@ﬁm_. EnhmIseneT OMNLLE eigy [ eemeu &1 ael Qi @& sl Heimen @gﬂuﬁ@&sﬁ
apaod GEis

1. aLsdemia owmd Saameoiyd unpaasThny uellda & phdldaims
feme wrdl e Cupers alsdlng. Eang Jaameiyt umoudberiho
&1 &I LT
. esfldiphs olad Jamraiyd ussausarpy., yallla &pHdldeare
Hleme wrf au-fpésrs alsdlna. Qevs Jda@miuyd uGasHTHN
eTeBILIT.
@eubmyeir |
A) I (b B) I Qb
Cl lwbHmb [T D) b @eaoe b G,
Which of the following statements is/are correct ? >
[ In India, the winds that blow from north get deflected and come from
the north west. These winds are known as the ‘retreating monsoon'.
11, In India, the winds that blow from the north get deflected and come
from the north east. These winds are known as the ‘retreating
monsoon'.
Of these
A) I only ' \.Bj/ IT only
C) Both [ and (I _ D) Neither | nor II.

GK640T 8017
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35. BP&EHEUIL emDHISH@ET B8
1. Eursdil QerLméen - Harmells Qe Ge@n @i ild Sewhgsiens
@mn&&e\s Glgmn.
11 DENRG: THEG @sﬁn_iifu Qubmsurael  SEowbs UTEE GoTalb
&1 6uT LI (il
@yeubmiet o % / arensy afl 2
A) T (o Bl [Twl@b
C)  lwhosb (1 D} Ib Gievemes 1T b @levenen.
Consider the following statements | -
I Himachal lies between Himadri and Siwalik ranges.
I1. Passes arc the natural gaps across the mountains.
Which of the statements given above is/are correct ?
A) [ only B} 1T only
\Q{‘ Both I and 11 D} Neither 1 nor J1.

36. ulgues I sy ulquée I 26 GQurgsd). d8yp Qar@ésuu@arar GHU@ewmens
Qeran® slurer e aws Catb@el

Lltgwen I uligwes 1T
al  evdlBrelum . erlpéedleon
b GOaedr g ldfieer 2. s QUpeow
o) Y@y addwr _ 3. &RIGT (T
dl e Guflssr 4. eutle@dleny.
GRS e
Q b c d

B) 4 3 1 2
C) 3 4 I 2

D) 1 2 3 4.

GK640T [ Turn over
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Match List I with List II correctly and select your answer using the codes given

below :
List 1 List 11
al Australia 1. Horses
b) South Africa 2. Bisons
c} Eurasia 3. Kangaroos
d) North America 4. - Zebras.
Codes :

Al 4 3 2 ]
B) 4 3 1 2
“«f 3 a4 1 2
D) 1 2 3 4

37. @b adsellan Gevasenrafl whpd Cumpssd syred. wenGu 64 LHNK 8 SLEib.
24611001 6116001 & 1T T B LIEDT
A) 8 upmid 8 ‘ B) 32 whmb 2
C) 4wbryb 16 D) 10 whnbd 6.

The harmonic mean and geometric mean of two values are 64 and 8§

respectively. The values are

A) 8 and 8 ' B) 32 and 2

&7 4and 16 D) 10 and 6.

38, 2m550sE  sumd oM (App  wElyssilaT s @5RETare 540 erailé,
DIDBHILB e e & TE01 6.

A) 178, 179, 183 B} 176, 186, 178

C) 178, 180, 182 D) 179,180, 18].
If the sum of 3 consecutive integers is 540, then integers are

A) 178, 179, 183 B} 176, 186, 178

C) 178, 180, 182 T 179,180, 181.

GK640T
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5 y&@mmel whnd 5 Cuamss Ler@L G EDSBEE GEeT swaimiy
peopdiss  Caibg@esLud@mat. sfle ol yamnsan, whoODTEGaT

Qe TEND G)BHES Bl PSSR .ovrrireens S (SHD.
2 3

A) - B) —
5 5
5 4

C) - DI —.
9 9

From the group of 5 men and 5 women, two persons are chosen at randem. The

probability that one of them is man and the other woman is

A)

o

o Quigdld gos Seaemea 4 floaiiy, 5 Feb whnbd 6 use LbEGET 2 sTaTaT.

B)

D)

wlom o N
Ol | w

B® ubgsst sveamity wondd CsibOsdssuLRR@Da. Seubd &I
BaLTHAD HHSSHB L s LTHOD Q)HHe Bl psasy '

5x 6 Bhbx6x2
A) S B) I —
15x 14 15 x 14
4 x 5 4 x5x2
C) —_ D) A —
15 x 14 14 x 15

A box contains 4 red. 5 blue and 6 green balls of identical size. Two balls are

drawn at random. The probability that one is blue and the other is green is

Al 5x6 \Jm/' 5x6x2

15 < 14 15 x%x 14
4 x5 . 4 x.

) X ‘ D) ,><5x2.
15 x 14 14 x 15

ol SnpyesaLar GerLiysmLw sremfidaT syull ag 2

Al Gy e enod B)  esymi@ ayadl
C]  smeoy syl D] o fard sToll.
Which endocrine gland is attached to kidney ?

A) Pituitary gland B]  Thyroid gland

C} - Pancreas JB(' Adrenal gland.

GK640T 801 [ Turn over
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42.

43.

44.

45.

aest Glevetedlel gofl UsTs SBTERD . ovvenn eTeBImy e pdhalLBSIng.
A) Qg Gerug) B}  seaye

C) oeugd omigsn D) OgendiGumSwr.

The opaqueness of the lens of the eye is known as

A) Retinopathy \B'f’ Cataract

C) Astigmatism ID)  Presbiopia.

Baefler srami@n afure ealQUITEL ST wWTera 7

8)  sfdoenry, sre e VLSS, WeETHeaTET, aneu L ble
B)  si&seony, Yrsh. berhaare, esul (bl

C)  erésory, Mg 2Oyssen, Qarapuy, eveu bl

D)  sissen, srgy o Uysel, Qaruginy, biGam oublsub.
Find out the correct composition of Honey :

JK Sugar, Mineral, Pollen. Vitamin

B)  Sugar, Protein, Pollen, Vitamin

Q) Sugar. Mineral, Fat, Vitamin

D) Sugar. Mineral. Fat, Amino acid.

orllues @omur@ Crmisamer HHS soapandE LedwTnd &0H&s 2 galb (e

Al 2L pQed gl Adldans (weom B)  anétea g Hdldme qpemp
C) @Bamaih weom D) GefMBuraL i (pem.
Inheritance of genetic delects t.o children can be prevented by

A) Somatic cell gene therapy \.B( Germ cell gene therapy

C} Cloning technique D}  Karyotyping.

BPEEIAL SmbpIs e L :
L wphiseer Oeu @sugme @pocmied ( B ohpbd He sumfle )
urdlsstiLSing.
1. 20Neepée b 2 aviey Senl s@b.

@)eubimyef :
A)  Tefl eyerméy 11 seumy B)  1geumy gyeormay 11 sift
€ QuanEGw sf o D) @ranGSo seum.
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Consider the following slatements :

1. Removal of trees and vegetation would affect both land and water

ecosystems,
I[f.  There will be lot of food for organisms.
Qf these
.ﬁ(/ [ is correct, but II is wrong B} I is wrong, but Il is correct
C)  Both are correct D)  Both are wrong.

priadlane Codidlare Cprégh Gurg ue sepsamas Geldanae. @bhs
HiepE &l apesld BTeLTHSET LGy GloQHETTE SLaTene 616Ny H&oILDihgeut

Al Aflai Queod B)  anfevey Lumialle

G @Gururd s D} @yruirl Syeyes.

The bottle lid made of cork is viewed with the help of lens. There are many
chambers in it. This observation by ..................., led to the discovery of cell. .~
A) Gregor Mendel B)  Charles Darwin -

JZ’( Robert Hooke _ D) Robert Browm.

el sGaidams peoLOung Comeaures peEull (pealGiLTHL. sal
L. @M spefl, Lakaesieb
I co,, H,0
L e gefl, ausl s

v. H2O. eyl Liblebra e .

A) [ &IV B) n&iIv
<) [ &1 D) I & TV,

Raw materials of photosynthesis are

L. Sunlight. chlorophyll
. CO,,H,0

I, Sunlight, biliprotein
Iv. H,O, vitamins.

Qf these
Ay T&IV Bl &IV

‘;2(1&11 D) MW&IV.
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48. ulguéd I e ulgud I o Lar Quipsdl. #Cp Qardésiu’ Qeier @dliifsamasd
Qaras@ aflurer afle_cows CarhGied :

Ul g wen I U igwen IT
al  &&s 1. Qedyd
bl gyuder 2. Guid
c)  ulLrash 3. eop Doy el
d)  QeuameaL 4. Qumib.

SoRe e -
Qa b c d

A) 2 4 1

!

B) 4 1 3 2
C) 3 1 2 4
D) 1 2 3 4.

Match List I with List II correctly and select your answer using the codes given

below :
List 1 List II
a) Brinjal 1 Legume
b)  Apple 2. Berry
] Pea 3. Septicidal capsule
| d}  Lady's finger , 4. Pome.
Codes :

a b c d

Jﬁ# 2 4 1 3

B} 4 1 3 2
<) 3 1 2 4

D) 1 2 3 4. ,
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49. saured senlUTHLsel 6f e

I srrGLranaml Gl
. Gleraiy
. ygsw

V. eveul Libletaen.

@loupmist : |
A) LT whob IV 'B) L [ whayb I
C) L i whHon IV D) L L 1 wbos V.

Respiratory substrates are
I Carbohydrates
I Fats
IlI.  Proteins

IV. Vitamins.

Qf these
A)  Llland IV @( [, 1T and 1
C) [. Il and IV )] 1. I1. Il and IV.

50. @ yhersléd A, B, C, D wpnid E agub @bgs oreoeuissi el ogeushHle
oibgeteaeon. @euisdleo A agud wrawent CgaCuohas urtign, D agb
wresieul Q@ dliphensls UTTHHID SFHeEtensr. B wHod E aamd wreseussel
A obhowd D &g Bni edlyne 2 drerend. Gogud C eremb wraoeut D wHmid B &G
sullgraaalsn Guidler C sgud wremieut & sdlengaw Ghréad) Gmuurt 2
A Gupw B) Qang
C)  auLbs® D)  dlpses.

Five boys A, B, C, D & E are sitting in a park in a circle, A is facing south west.
D is facing south east. B and E are right opposite to A and D respecti\}ely and C

is equidistant between D and B. Which direction is C facing to ?

A) Wesl B) South

C)  North ua/ East.
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51. e@eufledt wig eunurend @, 28.000. gpure 1 Geaalan, Geliun L1 gl

Qe Hesun Heteng. oeui ClurpsCuisdihe @seednh Qarens wrg ?

Gunéeeagbe
20%

A) @ 1950 B) 5.1960

C) e 1970 D} . 1980.

A man earns Rs. 28,000 as monthly salary. His expenditure and savings are

given in the diagram. How much did he spend on entertainment ?

Rent 13%

A) Rs. 1.950 \E{}' Rs. 1.960

C) Rs. 1.970 D) Rs, 1.980.
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o elunurtlurareur geellib o eer QUi Saver 2 & alloeswusiiL. 20%
saaeors: ellme Micmun Deiy @i Ll @, St 10%  gahghLig e Qﬁlrj)uasnm
Nelflmr erafléy, 2yqu s @evirs szafai

A) 6% B) 8%

) 10% ) 12%.

The trader marks his goods at 20% above cost price and allows 10% discount.

Then the gain per cent is

A} B% J{ 8%
C) 10% D) 12%.

@ surLRD aawedler ampdluneng reneGurdr 12 wLkig. SdHewd Gume

g zoarteng). Cueagnn fdlurem s 24 eafld, sugURLD eretor
A) 1224 ‘ B) 1242
C) 1222 D) 120.

In a division sum the divisor is 12 times the quotient and 5 times the remainder.

If the remainder is 24. then the dividend is

xAl/ 1224 B) 1242

C) 1222 | D) 120.

SeubiGearm Glulu gpEae (penpdiss Dyeubletlug et Likig

Al oybedisnGenpifl B)  aflemarGeus wrphdl
C)  gOadl ' D) wlréal.

The role of aluminium in aluminothermic process is

A) oxidising agent B)  catalyst

Ve)/ reducing agent D)  moderator.
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55. ulgwé I g ulque M2 & GQurpsd). dGp Qar@ésiu’Reren GOERs s
Glearam® sflura alao_aws Carbs®

um'_q:uéo I . Ui wéo II
a) pelE sramdslulL Hlésd 1. ysalispGerpmb -

bl ofledewnns @uilLrdlud el @gBrran. 2. pRée alenar sryesi

cl e TES (@)Lh&56b 3. @&
d)  aeELITET ghnd ‘ 4. oysefligCabi.
Golipser :

a b c d

A} 2 1 3 4
B) 3 2 1 a
\Q{’ 2 a ] 3
D} 1 ) 4 3,

" Match List I with List II correctly and select your answer using the codes given

below :
List I List II
a) Finely divided nickel 1. Oxidation
b)  Acidified potassium dichromate 2. Reducing agent
c) Loss of electrons 3. Reduction
d) Gain of electrons 4. Oxidising agent.
Codes :
a b c d
A) 2 1 3 4
By 3 2 1 4
3 4 1 3

D) 1 2 4 3.
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uahETer 2_ih &perasiuaubnet adellgha GuDLLEHDE 2
A)  UsEHETERTD LHNID Greursd & Hlsyael
Bl  sawlesu wHnb Q& ssesmn
C) seamiUuenl LHOID USELHSFTEEOID
D)  usEhsTanid whnn alekigs &HlaEen.
Green manures can be obtained from which of the following ?
Al Cowdung and plant wastage
\B‘( Sun-hemp and cluster bean
C) Sﬁn-hemp and cowdung
D) Cowdung and animal wastage.
Blstapeomid usge aeiug i 2 Caragdler ugidle g wpHGpmi 2 Coresdlaen
hleesTTHUGLIL epevd LauLBss @b, o Qweells srangiar g gnsslamea

Beorpens  yasd weopdld, Oeusielles sremg ... o6 THHas

QameiertiuL. GeustorHin.

A adlriblereum

B) Gmrdieeumi

C)  Haugs

D): " (A) whod (B) @yesm Bid.

Electroplating is a process of coating one metal over the other metal by

electrolysis. In the electroplating of silver spoon with gold. the silver spoon must

" be taken as

\A’l/ cathode

B) anode .
C) electrolyte

D)  both (A) & (B).
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58. dpbeoiL smbmitenen Hubhs ag [ ween afl e QaneslulGerer @D
fpeold Bgia

L. sl GarHnsdley. eraml et Garsama oL Quuips
L suselleCabnggle, aadlyred @wsse parCunding
L oysalimCGamnnsdic, srebl e gnmé pe @unising

V.  seallpCammngdle, Crible aamuvweiw swell Gaissin@ding.

@eudmiet -
A)  Twbdgh N eflurereane. B) Muwu @b sflurerg
C)  Huwlid efuTers D) lwbmb IV efwuraremey.

Which of the following statements is/are correct ?
L. During oxidation. addition of hydrogen takes place.

1. During oxidation. loss of electrons takes place.

1. During oxidation, gain of elecirons takes place.

[V. During oxidation, additiocn of electropositive ion takes place.

Qf these
A) I & Il are correct B] 11T alone is correct
JZ{; Il alone is correct D] I & IV are correct.

59. #pasreousupiles ergl sflure Quressiul Gsterg 2

A)  pHwdluS@ —_ S. P. L. @eniyedreetn

B)  opbebd — SoumgGL.

C)  Henaseven — 2y pnesTwish

D) Gismorefwb — DeraL .

Which one of the following is correctly matched ?
M pH value — 5. P. L. Sorenson

B} Acid | — © Faraday

C)  Battery - Arrhenius

D} Germanium — Conductor.
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60. pamemcunbla ag eflurs QuTkhafng

A)  obsTous SESTE R Gl D — CeriemeuaumiIIemL 2. (F 6UT SHE:SHE

B)  glpreug smbsTas(® SHLD — sumieol plUiL) HOID &wamiy

C)  elLmeug mbhsTEmH Si_b — 2000 & (pop Geusnevsumiient
srdlé@d Cameaemu 2 (RauTHEGSH

D)  uSSTeIS SBESTEoIH S 1D — geps  Bhu_et  euetiES  whmib
FLOGH GIEVID .

Which one of the following is correctly matched ?

A) Fifth Five-Year Plan —  Generation of Employment

B)  Seventh Five-Year Plan — Poverty eradication and self-reliance.
\Q'K Eighth Five-Year Plan — Employment generation leading to achieve

full employment by 2000

D)  Tenth Five-Year Plan —  Growth with social justice and equality.

6l. lgque I g ulgwd I 2 & Guigsd. £8p Ger@ssun Geter @ilSHamens
Qeneo @ efluren alleoLmus Caihbia® : ’

g I uliguwe 11
al  o.es &&MHIY Blneussd 1. urfleu
b}  Quamsel sTULSD 2. Ggmb
¢} ol pr@sallar saal sidlaiiud 3. Bywris

LHMID GETFFAT DY

-

d)  uaram @ Ceustrarstenin suenéd) hld Gigperteurr.

A) 3 4 2 1
B) 4 3 1 2

C) 2 3 4 1

D) 4 3 1 4.
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Match List I with List I¥ correctly and select your answer using the codes given

below :
List I | List II
a) World Health Organization 1. Paris
b) Women watch 2. Rome
c) United Nations Educational 3. New York
Scientific and Cultural Organization
d) International fund for 4. Geneva.
agricultural development
Codes :

A} 3 4 2 1

& 4 3 1 2
Cy 2 3 4 1
D) 4 3 1 4,

62. Mdldguealsr geeealar Hiuwsb Qeueug

A) GRS S SHeneveull
B)  Jpgw syeowésr
C) wésHeTapey FUMHTILGT

D) i emwEsar.

The Chairman of the Finance Commission is appointed by

\M the President

B) the Prime Minister

C)  the Speaker of the Lok Sabha

o) the Finance Minister.
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SpseaL Unsw ooisiamen srasmflomeiufsys :
L $e. syzod
. . el N.4m
N e eréuagTi smeuglf]
V. dm sndizCesi.

@eudmyeft
A) I LI & IV B) WV IL I & T
C) I, 101, IV & [ M IV, NI, I & II.

Arrange the following Prime Ministers in chronological order :
L. Charan Singh
U. V. P.Singh
III.  Lal Bahadur Shastri

V. Chandrasekhar.

Of these
O min&w B) IV.ILII&I
) I1. M1, TV & 1 D) vV, 101, I & II.

EPHH@BIL eur SdIUhg enends Heved :

BaDIi (A} - SIOrgrs  sidlasrme qGrdl aeruegre sEsHHue Qerderssn
@uF L g).
sryein (R) : whsepow G Sukaes, 2 ndiurGess nbSléossst oHoD

sBmsassa gyduabiia Qsrelilomea sEsdud et Hdns.
&8 @hludic @etor @il ge e Nwran allem_sows Caib@s@ -

A) (A vbow (R @reodd som. Gogn (R) aaug (A) edibe ellure

allstéswese
B) (A) wdmud (R) @reso@in sfl, Gueyd (R) eratiug (A) ofbeg sflumes allendsb
C) (A} afl, yemen (R) Heumy

D} (A} sy, yerréy (R) el
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Consider the foliowing statements :

Assertion (A) . The term 'ideology’ was coined by French scholar Tracy.

Reason (R) . Ideology refers to a set of beliefs, convictions and ideals of the

people.

Now select your answer according to the coding scheme given below .

A)
vl
C)

D)

Both {A) and (R) are false and (R} is not the correct explanation of (A)
Both (A) and (R) are true and (R} is the correct explanation of {A)
(A} is true, but (K} is false

(A} is false, but [R) is true.

65 Oasureenunnar GEdL sevee  @uuisssoesnns Gl hs@Es DeushE

sgudlunrer sed SHarag eg

A)
B)
C)

D)

Sput B gunaores Opss Geudn b
Seumdg Endl Cueeayt, L ssab aorseyd Cunllibdinds CauemHo
Spul 35 e Blrfueugrs Gmdes Calwm @b

Sput,  orhletsaramadlée sprnlomres  Caip@s@sslllL s

L]
GlubmeurT & " & Qeuedo (B,

Which one of the [ollowing is not a qualification required to be {he Vice-President

of India ?

A)

He must be a citizen of India

‘,B( He must be able to speak, read and write in Hindi

)

D)

He must have completed 35 years of age

He must be eligible lor election as a member of the Rajya Sabha.

66. dphswuLahile ag eflure QuUIGhED 2

A}
B)
C)

D)

GK640T

@idlwu S Bl dlen gHems — B hélgd)
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Which one of the following is correctly matched ?

A)  Father of Indian Planning — Gandhiji

B) The First Governor of Tamil Nadu — P. C. Alexander
\K{ First Woman Prime Minister in India —_ Indira Gandht

D) First President of India — Nehru.

migitey erein L& hdler ‘ulars’ edtudlea Qumea

A} Gagaeusmerd s HLUGE s

B) @omnheu s Cameusenet Lisgsl Giaae

C) ey Bamailur Souhean Ll (b uisd Cs g

D) @eeu dseen .

In the context of consumerism, the term "Aparigraha’ means
A) limiting our wants

B}  satisfying with minimum needs

C) satislying only what is necessary
o

Jﬂ{ all of these,

GG EIEIENTS HTEhéld emsersrTaT Gomildy sl LuulLg

Al @uorgdiboes B} @uesimd wGahyed
Cl  (psend nHyéibosuines D) apsoimmd Bidleuiwss.
The King who built the Kanchi Kaiiasanath temple is
J(ﬂ Rajasimman B) Mahendran Il

) Narasimma Varman | ) D) Nandi Varman IIl.
gaCarpd G a@ubhimes HeaiugGe

Sydvarnd GeublprasndiGuest ugrugGuo ! - ereTn LMgWweuT WITT 2

A) ST ULt eurt B)  susteneurt

C) zupamdfibmst D)  @OIESHBUTT.

GK640T
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Who had written the following lines ?
"Ellorum Inbuttrikka Ninaipathuve
Allamal Verondrariyen Para Parameé’
\A/f Thaiyumanavar B)  Vallalar
C)  Arunagirinathar D)  Kumarakuruparar.
70.  allps - Gelardde aimmas Gbbilugsrnd GLbClLppeieng
A)  custRigTLé @hdiwsysd B} OQueGlgiiréd @bhlwugusmb
C) e Baar_is epdlusysyn D) @eolg Q@ is @hdlueysirp.
Which type of Kutriyalugaram takes place in the word Viraku' ?
A) Vanthedar Kutriyalugaram B) Menthodar Kutriyalugaram
JZ]/’ Uiyirthodar Kutriyalugaram D)  I[daithodar Kutriyalugaram.
71, dixpespesnersd Qrgseeur wrt 2
Al Eeud @UTenrTess B)  pennmn @Ceunsmms
C) miodluresmi mod D)  &mafs Gaoar.
Who has compiled Thirumuraikal ?
Al Rajarajan ) B)  Kulothungan [il

vC/]7 Nambiyandar Nambi D) Karuvur Devar.

72.  spQumiar i udsele mbs supbs Onhiaaer alenagn Smufub ey ?

Ay deliugleryd B)  watlGussme

C)  Fausmdlbgmoesi D} euemeniugl,

Which literature deals with the five disciplines to be followed in life ?
A) Silappathikaram \81/ Manimegalai

C}  Seevaga Sinthamani D) Valaiyapathi.

73.  @@wemen mrhug e mredies o uflur w2
A)  eflernd mrae B)  &lert

C} usnGanhgemm D)  waerHeITRTS SadSRT
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Who is the author of Iniyavai Narpathu 7
A) Vilambi Naganar B)  Kabilar
\52(. Poothan Senthanar D)  Madurai Kannan Koothanar.”
74. ygbsalmess sthadu o@rsll oSma Gubneud wmi 2
A)  @augwpHs B} Hossud
C)  rGyr® sblpetuds D)  @pégr urissenydl.

Which one of the following persons got Sahitya Academy award for Puthu

Kavithai ?
A) Vairamuthu B}  Thilagavathi
ut’,(}ﬂ Erode Thamizanban D) Indra Parthasarathi.

75. Qarasrodur eAIGE  sos. swes  @seter Qi@

aretor el Sen s aowsd GHulps.
A) gD B)  &L(@
C)  geug D) usal.
How many Human emotions are mentioned by Tholkappiyar ?
A) Seven -E‘ff Eight
C) INine . D} Ten.
76.  Speumd GarLiaeid uTyELTT sapre CarLeré H1.(H6.
A)  BWOITRs meeTanL
B)  sllpen a&r@prm Gleipes®
C)  soloWmEmeumse 2 aoraleney eTesTIe
D) &THands G eThGel Tgl. .
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Which one of the following poetry lines is not writlten by Bharathiyar ?
A) Nemirntha Nannadai
VB{’ Tamizhan Enruoru Enamundu
C) Thani Oruvanukku Unnavilaiyenil

D)  Kakai Kuruve Engal Sathi.

77. waligieaila @eomselld Spamestounnet og Senbd 2 WIHES TOIUDSSE

@&OINGe 2
Al QeraGlarens CiaT@Hsed B} #Quett areiipén
C) OareiQenslr eTestmed D)  wower GUsac.

Which one of the following is considered as a great character in human being ?
Kollena Kodothal B) Eeyan Enral
\Q‘/ Kollaen Enral D)  Eevana Erathal.
78, rdGaut arasdldn, Snesiapolt o malld she preoub CeusfiBl el wi 7
A) gy Gurn B) asra@dieusy
C)  aévala D) ellens Gour.
Who released gold coin {or Thiruvalluvar in Britis.h period ?
A) G. U. Pope B) Caldwell
VC]/ Ellize ' D)  Vinsulo.
79, QuUTEheTsmes &l D& :
A)  siflenes B} L heos
C) ol D) whens.
Choose the odd man out :

A) Arival B) Madanthai

JZ’{_] Vidalai D} Mangai.
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Epsaramib prasarel Omuaenhsed awdug ag

A) pus B) urflssagl Gur _ .
Ct  setQorr &realuGuonr D) Guore qpel.
.
Which of the following was written by Jayakanthan ?
A M . “ . P
) arrapasu - \,B‘)/ Parasikku po -

C)  Kallo Kavivamo D)  Moga Mul.

plbls Cergdlé S sl hieamensd GHlaGED uemslld 5 cuseTwhsel 2 6Tere.
Seuble e @e s b6t @bg sWeHNsmes Cam_alvme 7

A} gudlur, eGrmiiar B)  eGrriur, oy fsen

C)  eGrraum, gyevdlGrrebur D) oCrmuur. sul Gwfléan.

Olympic flag contains 5 rings representing five continents. Which two continents

do not touch Indian ocean ?

A) Asia, Europe B)  Europe. Africa

C) Europe. Australia JZ‘JA Europe, North America.

&8 Qerpeslu.Dsia aursduisdld ag L&HACETES HamaLaRUy-2011

LDD HUDTES BaHeum®E SEHHIDS ?

A)  sahdnsdhel Bing polCubn 7aus beEesaCleTmed samitiaHiy

B) by weesTOFImes sansOsPUy poa aatermDd deiugy Qo Wphdlu
EUIT & BLOM GID

C) @uem@ slidmenns Bl GunHng. G)S‘E_@L:JLJL'_IL}.MG'\J " whpld &I Gs
BetH0leFHUY. wHEBIGTmes &edHbleRly

D) eosuBuél, sadlell Lhmw Bwemwub vuaLESHECuTT  UDPL  BHaI
Gemmeariu allaeame.

Which one of the following statements is incorrect regarding Census, 2011 ?
A) 7th Census after independence

B) Slogan is "Our Census, Our Future”

C) Conducted in two phases namely house listing and housing census,

population enumeration phase
]
VD‘)/_‘ Information about mobile, computer and internet users are not collected.
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83. UJéreupuere@set LsGIgTaTLBTE BDesaualar someanrs HubdEasiuc e

WA 7

A Bdurer g. e, G

B) pgéduger & al. Qi

¢ Bhuyst aev. aip. Had

D) dhurst gu. o. shdlye.

Who among the following has beén appointed the Chairman of the Nineteenth

Law Commission ?

A}  Justice A, N. Ray
\Bf’ Justice P. V. Reddl

) Justice 5. M. Sikri

D)  JusticeY. V. Chandrachaud:.

84. dareumeauenaubper Gibhdlw faiel sumdllss et dorssy ag

A)  ueGeun wduleran epumi GBI HHaHT auphiGSH6

Bl arsrhasgdlbsrar ebdlurss Gleusuied

C) swadlsallan amdlurssd Csudupse

D) g6 BUTHEEEGSH SLEBT LLEHIN.

Which one of the following is not a function of the Reserve Bank of India ?

A) Issue of currency notes of various denominations

B} It s the banker to the Government
C) It is bankers' bank

.J}{)\ Issues credit to individuals.

‘GK640T
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etly oL edlew eeng Quisammdllly ( Hesems geten ) apriGome
e pAAGDTD 2

Al ouenié ) amriCores . B) ayselindles

C)  eurGenmSlifldle D) emg:,grrr&;é\@‘.

Which one of the following hormones is called personality hormone ?
A) Growth hormone B) Oxytocin

C) Vasopressin oL Thyroxin,
Spéaaprsupmet Db @ndlu Carer wrs 2

A) el Bl alemen

C) el G D)  Gpliguy s

Which cone of the following is considered as dwarf planet ?

A) Saturn B)  Venus

\52{ Pluto D) Neptune.

EPGHTIIL FoDmiserer i :

EhHumeler Sl s@h (PHETEID DD (PRI 6l
. Bleusadl wppn Sléenen
. erevoroleoriy whmih eurry)
UL eresorieoonl o (ib

V. bléenyb.

Gleuyet :
A)  lopohd U eflurarnase B)  Noppo I sflure s
C) Mol@d sflurang DY I, 1 whpb IV sflurenaey.
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88.

89.

Consider the following statements :

- Available primary energy sources in India are
1. Coal and Lignite
II. Oil and Gas
III.  Oil alone
IV. Electricity.

Of these

A) I & Il are correct BJ Il & Il are correct

C) Il alone is correct B 111 & IV are correct.

FEP Qar@esiuParandla sfluraamps CorhOsd -

A) Llevena @giflusmen alle Geniuorerg ocven

Bl @& efumer el apeimy kg Glowunrerg

Cl Q& eLrag e

D) @& do sfls GeMisdlurais.

Pick out the correct statement :

A) Lightning bolt is not hotter than sun

\5{7 Lightning bolt is 3 times hotter than sun

C) Lightning bolt is not hot

D) Lightning bolt is very cold.

efle 2 Lefidr Gueiumen @Qrse Geb&laallea syemea)

A) 80-120 mg/ 100 ml B)  70-110 mg/ 100 ml

C)  60-110 mg/100 ml D)  50-110 mg/100 ml.

The normal blood glucose level is

.J()_\' 80-120 mg/100 ml B) 70-110 mg/100 ml

C) 60-110 mg/100 ml Dy 50-110 mg/ 100 ml.

GK640T
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90. uwigwe I g ulgue I 2 & Quipsdl, 66y Qarfasiul Naer Ghd@Hesaers

\4:' R IT GO0 b
al
b)
c)
d)
eplipe :
a
A) 3
B] 1
C) 4
D} 2

Al

WITEET aulleml €

WIRATNTIT-VID

Sengmes
el R L_@&G‘I:I
GO TH

WEIHSHE Cotbeara

1 4 2
4 2 3
2 3 1
3 I 4.

|k (?' I')C 5 N

s

&2

Ui g e 11
Fahul.
S STaRSET
LT e T

2L VBT,

Match List I with List II correctly and select vour answer using the codes given

below :
al
b)

c)
d)
Codes«
a

&« 3
B) L
cy 4
) 2

GK640T

List I
Fission
Budding
Fragmentation
Pollination

b c d
| 4 2
4 2 3
2 3 I
3 1 4

801

List II
Yeast
Flowering plants

Bacteria

Algac.
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91. prelever 2. pevetwrs omaé Geussd wellsfle pLEEsaTow. BO wratauTasn
2 aiten ph SuGLLIe 72 omaoieuise pralleanen 2 GHané Qe (ppybd. 8 wremeur sHel
Qlew Glueun et s, @be LTilaT g whinrs spRke Uil &geisb
A) PRGSHGETon 90% OGS gaan 10%

B} pRGsssTon 10% Ekgs saaw 90%
C)  ghugsseow 20% HOugs sdaon 80%
D}  ¢guebgaiean 80% ohhed s 20%.
Rolling of tongue is a domlant character in human beings. Qut of 80 students in

a class. 72 students are capable of rolling their tongue and 8 students not. Find

the percentage of dominant and recessive character.
Jf{‘ dominant 90%, recessive 10%

B) dominant 10%. recessive 30%

C) dominant 20%. recessive 80%

D) dominant 80%, recessive 20%.

92. wiguwd I @ ugue Ha. & Qurpsd £Cyp Gerpesuuferar gllGeamend
Qe & efluren el owus Corpbisd

Llguwes ¥ uligue IT
a)  WHO 1. walsaun = OFsCarenpb
b) NPCB 2. Csdu Qerwlrpmi gfitusd
Lo
¢) NLEP 3. Gaélu uriseney Crpmus

s QUUT. D SiLid

d) MAB 4. p.60& GHTHND HIDICUTD.

B) 2 3 4 1

1) 4 1 3 2

RE R
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Match List I with List II correctly and select your answer using the codes given

below :
List I List II
a) WHO 1. Man and Biosphere
b)  NPCB 2. National Leprosy Eradicating
Programme
c) NLEP 3. National Programme of Control
‘ of Blindness
d] MAB 4.  World Health Organiation.
Codes :

A) 1 2 3 4

By 2 3 4 1
Vm’ 4 3 2 1
D) 4 1 3 2

93. 2011 wasGigTans HeudblsHuilanyg urdlar alflsn wfan 2 ser LTH®EOS

eHSG s .
A)  sflppr® B) UJsnmr
C)  Cogenn D) eprrd.

Find out which state has highest sex-ratio as per 2011 Census :
A) Tamil Nadu B) Bihar
v?( Kerala D} Gujarat.
94. e aut® Snpuy Ceruug el e,
Qe atenasdg Sty Gariiug Calumssn
Qam s $aTaeE Souy Caflug mUes HITL sev e,
Aflesrumt s aphHeEe fpiy Gersdlvg 1
A)  Qubg B) aangjrurs

C) ey D) e,

GK640T 801 { Turn over
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95.

96,

97.

If Lords is to London,
Chepauk is to Chennai,
Eden Garden is to Kolkata

then Green Park is to

Al Indore B) Hyderabad
'\;?]/ Kanpur _ D) Nagpur.
ennd@rrenin asClevd &paseeurn L uHEng
f GUEBITLIL 1D & (heLlT 5 Bl g oucuThse o GalThs
Bl HenHBIe 2 ey D)  glaGariysmer 2 (peunse.
Microsoft Excel can be used for
A) creating charts B)  creating documents
C) navigating web pages D)  creating sound files.
uede@n #hdrmsed Qe Guures sy elleedlaiTé 2 mamsug
A) Y60 & 61T B) @ﬁ;r'&:&sﬁ
C)  BGrTl s D) esminh.
Which is caused by the gravitational attraction between Moon and Ea.rthl ?
A) Waves B Tides
Cl Currents D) Tsunami.
SHEUMITEDT @)emesdt €T ?
A) EATAEA AT I — NGt - emibel
B)  e&msuhg — - Gumeen
C)  OuLdnanau —_ & m
D} amirkd) — Q8 westm GimueuTe.
Which one is not correct ?
A) Cricket — Vinod Kambli
B} Football — Maradona
) Tennis — Sania Mirza
\,\/PV Hockey — Saina Nehwal.

GK640T [801 |
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Hetloai sebs By STW BITe LIHPLULGURSSULED Qurgeurea CadllGummet
&g ?
A) & Qe EU S HiT 617 B)  ugsrb
C) @Cemmiflan s yoewen D) wdle s6a0.
The commeon chemical used to purify mucicly water to drinking water is
A} bleaching powder \;a*)/’ potash alum
C) chlorine dioxide D)  cepper sulphate.
Sphoaoe arhdluhsaens seaeh :
ENORYY, . peonal seugy® LT B h sTlewliuBHased 2 padlng.

gngeosid (R) : Qe g saeald wmebd flaapd Gsmnflamgpan agslGeHed i Eb.
@hLIC L saielet auflCu ousHsn QeeubHmeigrd BelGufu

S{STEN GV (LpeueanMiehal WHMID Bweild:er 174 sin@dle e .

gpsenrauanile sg  ofuraig + SCp @il Psten @O e  sfura

eflenemwd CoihTlag -

A} {A) HDD (R) & flurarene

B)  (A)sfluren anpmy syeoméd (R) Sy@he sflurer ellendad o6
C) (A) geummenigy, 2y evriey (R) aiflumen gy

I} (A} bhHnb (R} seupmestane.

Consider the following statements :

Assertion {A) :  Reverse osmosis is used to purify water.

Reason {R) : It is a membrane technology filtration method that removes

many lypes of large molecules and ions by applying pressure (o

the solution on one side of a selective membrane.

Now select your answer according to the coding scheme given below :

VX7 Both (A) and (R) are correct

B} (A} is correct, but (R} is not relevant

C} {A) is not correci, but {R) is correct N

D)  Both (A) and (R} are wrong,

GK640T [801] [ Turn over
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100, ulguweé I g wlgud II 2 & Clurpsd, £Cp QerDssaiu (ara ghlihsemens

Qeranfy aflurar ailoLows Cerhes(

L~
& [kl
Lo

uiguies T uriguige I1
a) lguilies emeth 1. UGy dleu
b)  dlfleuquen Guramrd@La 2. oGigmesmnen
c)  wyGrLirer ' 3. Qmatenedm.
d)  GrranméugenGanm 4.  @Edleaunhe.

A D
SR eT

Q b C d

A) 2 3 4 1
B) 3 4 1 2
Q) 4 3 2 1

D) 4 1 2 3.

Maich List I with List II correctly and select your answer using the codes given

helow
List 1 List II
a) Wayne Roony 1. Brazil
b) Christian Ronaldo 2. Argentina
c¢) Maradona 3.  The Netherlands
d) Ronaldinho 4. England.
Codes :

A) 2 3 4 I
B) 3 4 1 2
O?ﬂ 4 3 2 1
D) 4 1 2 3.

GKe40T 801
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